Name: Math Morning Work Week 9
Monday Mon. Workspace B Tuesday Tues. Workspace
Which of the A. 273,915 > 274,951 Write this number in base ten numerals.

following statements
correctly compares
= | the numbers?

B. 134,605 < 143,605
C. 529,058 > 530,819
D. 452,731 > 452,819

5,000,000 + 30,000 + 500+ 60 +7

Round this number to
the nearest 10,000.

What is the place value
of the underlined digit?

B. 8,384,281
o 1,995,298 A. 1,378,409
Find the Difference. Find the Sum.
. 4,205 12,490
- 3,874 + 3.941

Jasiah is 20. This is
twice as old as his
brother Henry. How
< | old is Henry?

Which comparison
sentence best represents
the equation?

5x9=45

A. 5 more than 9 is 45.
B. 9 is 5 times as many as 45.
C. 5is 9 times as many as 45.

D. 45 is 5 times as many as 9.

What are the first 5
multiples of 3?

What are the first 5
multiples of 7?

Which of the following statements is NOT true

about the number 9?

A. 9 is a prime number.

B. 9 is a composite number.

C. 27 is a multiple of 9.

Describe the pattern.
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If the pattern continues, what are the next two terms in the pattern?




Wednesday Wed. Workspace Thursday Thurs. Workspace

Write this number in base Round this number to
ten numerals. the nearest 1,000.
three million, two

hundred thirty-four 2,042,822

thousand, eight

6x3,000= About 300,000 people A. 351,652
attended a concert. Which

number could be the exact B. 257,363
number of people that C. 391,651
attended the concert?

List all the factors of The town Shawn lives in has | A. 9,078
36. a population of 46,743.

Which number has a 7 with a B. 17,395
value 10 times greater than C. 76,921
the 7 in 46,743?

Jacob’s dad is 48. His John has 4 bags of

dad is 8 times Jacob’s marbles. Each bag has
age. How old is 648 marbles. About how
Jacob? many marbles does John

have altogether?

Sam counted out loud | A. 8, 16, 24 Prime or Composite? Prime or Composite?
by 6s. Jorge counted Write P or C. Write P or C.

out loud by 8s. What | B 142842

are the first three C.24,48,72 5 63

numbers both

students said? D. 48,96, 114

21 1,234,576

A pattern starts with 60 and then decreases by 1, then 2, then 3, and so on. What is the 10" number in
this pattern? Create a table or chart to show your work to defend your answer.




